asym_atl1/ppm {ok cut} asym_atr1/ppm {ok cut} asym_atl1/ppm:asym_atr1/ppm {ok_cut}

2000 - htel | |p 2400 htel | |p 10000 |
i 2200 -
1800 — 00; B
- . 2000 | i
1600 — Entries 51852 - Entries 51852 =
E 1800 — 5000 —
1400 1600 I
1200 :_ Mean -8.112 1400 :_ Mean 10.52 :
1000 |- 1200 |- o
200 - Std Dev 2407 1000 Std Dev 2867 -
600: 800 i
: 5001 ~5000
400 - i
B 400 — i
200__ 200:_ —
- E 10000 —
0I|J I | I I| IIII| II|IIII|IIII|III IIII|I IIII|IIII|IIII|IIII|IIII|IIII|I
~10000  —5000 0 5000 10000 _18000 —10000 —5000 0 5000 10000 15000 ~15000 —10000 -5000 O 5000 10000 15000
asym_atl1/ppm asym_atri/ppm asym_atri/ppm
(asym_atl1/ppm-asym_atr1/ppm)/2 {ok cut} (asym_atl1/ppm+asym_atr1/ppm)/2 {ok cut} asym_atl1/ppm:asym_atr1/ppm {ok cut}
2000 - htel“p 22001 hte“lp 5 hte“lp
- 2000 |- -
2000 [ - 4000~ Entri 51852
B B B niries
1800 Entries 51852 1800 Entries 51852 I
16002_ 1600 — i
- 1400 o 2000 — Mean 10.52
1400 Mean -9.317 - Mean 1.205 - %
- 1200 | I +
1200 : -
00F - H 4t [Meany  -8.112
- 1 | 00— + + ++ S T ++++.,_++++ HH '|'Jr
1000 — 000 Ll 1 "
- StdDev 1854 - StdDev 1889 i k e
800 - : i + Std Dev 2867
600 — o —2000 —
400 - - R T Std Devy 2407
200 - — "
- N ~4000 — |
I_I| _I | II|III|III|III|III|II II|III IIII|IIII|IIII|IIII|IIII|IIII|I
0 9500&400&2000 0 2000 4000 6000 800010000 ~15000 —10000 -5000 O 5000 10000 15000

heck “rawpostpan.png



asym_atl2/ppm {ok _cut}

hIemp

2200 —
2000 —
1800 - Entries 51852
1600 —
1400 o Mean -11.38
1200
1000 —
- Std Dev 9139
800 —
600 —
400
200
0:IIIIJL III|IIII|IIII|IIII|IIII|III JII|III
—40000300082000010000 0 10000200003000040000
asym_atl2/ppm
(asym_atl2/ppm-asym_atr2/ppm)/2 {ok cut}
ntemp
2000 —
1800 :— Entries 51852
1600
1400 :_ Mean 1.185
1200
1000
- Std Dev 1863
800 —
600
400
200
:II|I III|III|III|II I
000 0 2000 4000 500 000

run

\lc:

<P_
I\)g

5

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

asym_atr2/ppm {ok _cut}

ntemp

Entries 51852

-13.75

Mean

Std Dev 1.038e+04

—40000

I I I I
—20000 20000

40000
asym_atr2/ppm

(asym_atl2/ppm+asym_atr2/ppm)/2 {ok cut}

ntemp

Entries 51852
Mean -12.56
Std Dev 9599

IIII|IJI._I—

J|IIII

ﬁﬁ"p"“NFz ""R " ratecheck

OG{MUOG{BUOG@UOG{]UODU 0 1000@2000(B000GH000(0000

‘rawmpostpan.png

40000

30000

20000

10000

10000

20000

30000

40000

40000

30000

20000

10000

10000

20000

30000

40000

asym_atl2/ppm:asym_atr2/ppm {ok cut}

I I
-40000

asym_atl2/ppm:asym_air2/pp

I I
-20000

0

I I
20000

40000
asym_atr2/ppm

m {ok cut}

-I—|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

htemp

Entries 51852
Mean -13.75
Mean y -11.38

Std Dev  1.038e+04

Std Dev y 9139

I
—40000

I I
-20000

0

I I
20000

40000




2000

1800

1600

1400

1200

1000

800

600

400

200

2200

2000

1800

1600

1400

1200

1000

800

600

400

200

reg_asym_atl1/ppm {ok_cut}

htemp

Entries 51852

Mean -9.313

Std Dev 2327

|IIII|IIII| J.Ll

= [T TT

|
0000 -5000 0

|
5000 10000
reg_asym_atl1/ppm

(reg_asym_atl1/ppm-reg_asym_atri/ppm)/2 {ok_cut}

htemp

Entries 51852

Mean -11.75

Std Dev 1813

—EUDG—EDDMDDG—EDDD 0 2000 4000 6000 8000

run7285-000~AT1ICR ratecheck reg postpan.png

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

8000

6000

4000

2000

-2000

-4000

—6000

-8000

reg_asym_atr1/ppm {ok_cut}

htemp

C Entries 51852

o Mean  14.19

- StdDev 2775

:I 1 1 | 1 | L 1 1 1 | L 1 1 1 | | 1 | | 1 1 1
-10000 -5000 0 5000 10000

reg_asym_atri/ppm

(reg_asym_atll/ppm-reg_asym_atr1/ppm)/2.Entry$ {ok_cut}

- )

— s ot

B ot

- X ot . HoOH X

— X X X

SIS & H% Xy HKHHHHK gigxx

e -5 Suaviatas R Skl

TRETTIERY ot A Na % sv Soe

- H K S e X e i

¥ X H K s X K

— H MMM o )

[ x P

10000 EDDDD

D 40000 50000 60000 70000

10000

5000

-5000

10000

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

reg_asym_atl1/ppm:reg_asym_atr1/ppm {ok_cut}

-10000

-5000

0

5000
reg_asym_atri/ppm

10000

(reg_asym_atl1/ppm+reg_asym_atr1/ppm)/2 {ok_cut}

reg_asym_atl1/ppm:reg_asym_atr1/ppm {ok_cut}

p1 —0.002078 = 0.004309

28.53 /7 36

-12.71+ 10.46

htemp

Entries 51852
Mean 2.44
Std Dev 1808

—E G—EDDMDDG—EUDD 0 2000 4000 6000 800010000
(reg_asym_atl1/ppm+reg_asym_atr1/ppm)/2

3000

2000

1000

-1000

-2000

-3000

_LI|IIII|IIII|IIII|IIII|IIII|IIII|II

|
N
—_—

%

10000

-10000 -5000 0 5000 10000

(reg_asym_atl1/ppm-+reg_asym_atr1/ppm)/2:Entry$ {ok_cut)

8000

6000

4000

2000

I}Eil}{‘;{llll

-2000

-4000

-
I | I I
I
C_ 0}
I
1}
I | B I
I
(0 1
T 1
1
I B
o0 1
I 1
1
I | B
I | I
(0 |
I |
I
1}
O ]
1
T 1
101
o0}
071
0 1
10}
01
{0 1
I
T}
10}
11

| |
T

—6000

—8000

- e

et
"
X x
% X XX oW M X
XX WXL %% I D
W R xgé—xxxx % ﬁx 5% gxngx X%

11 1 A _};: £ I L J I N v A A

55 xxxg % gg 55 3 %ggx

595" S YA S
% Wb

ped

HE |
=

et

ks
“}{“}{'
O "K':b{

*

0

10000 20000 30000 40000 50000 60000 70000
Entry$



2500

2000

1500

1000

500

2000
1800
1600
1400
1200
1000
800
600
400

200

run728535*‘0“60“*gﬂ”F2I2R ratecheck reg postpan.png

reg_asym_atl2/ppm {ok_cut}

i Entries 51852
i Mean 6.825
I StdDev 2355
_I | I | |_ | ] | L1 1 1 | | I I | | ] J | I |
-10000 5000 0 5000 10000

reg_asym_atl2/ppm

(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2 {ok_cut}

I | L

htemp

Entries 51852

Mean 3.648

Std Dev 1644

I|III|III|III|III| |I_|I||

—6000 -4000 -2000 2000 4000 6000 8000

2000

1800

1600

1400

1200

1000

800

600

400

200

8000

6000

4000

2000

-2000

-4000 -

—6000

reg_asym_atr2/ppm {ok_cut}

Z_ Entries 51852

E_ Mean -0.4712

:_ Std Dev 2395

-1 A R |

—10000 5000 0 5000 10000

reg_asym_atr2/ppm

(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2.Entry$ {ok_cut}

"

¢ ¢ p ¥

=7 % %

I, " & % xx Uk

RN N o T P iVl ;{%im{ﬁﬁﬁﬁ--%

Z%nn§§%§§§£ [&0¢ x4 §K§§§x§§~—§"

|28 7% el Wi 7 nex

nggx xg x % XK

.

_IIII|IIII|II |III|IIII|IIII|IIII|

10000 20000 30000 40000 50000 60000 70000

10000

5000

-5000

10000

2400
2200
2000
1800
1600
1400
1200
1000
800
600
400
200

reg_asym_atl2/ppm:reg_asym_atr2/ppm {ok_cut}

—-10000

|
-5000 0 5000 10000
reg_asym_atr2/ppm

(reg_asym_atl2/ppm+reg_asym_atr2/ppm)/2 {ok_cut}

reg_asym_atl2/ppm:reg_asym_atr2/ppm {ok_cut}

¥2 | ndf

n0

pi

0.03696 £ 0.00498

49.27 [ 41

10.73 £10.55

htemp

Entries 51852
Mean 3177
Std Dev 1713

N

L I|III|III|III|III|I

—EDDD—EDDUF4DDD—EDDD 0 2000 4000 6000 8000

(reg_asym_atl2/ppm+reg_asym_atr2/ppm)/2

L= - -

1000

-1000

—-2000

8000

6000

4000

2000

-2000

-4000 -

—6000

-10000

-5000 0 5000

(reg_asym_atl2/ppm-reg_asym_atr2/ppm)/2:Entry$ {ok_cut}

10000

T=T &
b

*%

I

Ed

et
e e
- "

% &
W OMHH M T
-}{}{}{
}{ _

-

R

{ 2
O

{3 =

R

X
THXT [ XXX
__?é}{

S

0

10000 20000 30000 40000 50000 60000 70000

Entry$



